busantour

2025\ SH=PEHSET|OLE 1XHHR| 2|

[0S

b

m@
e
<

il g

S

F2 7|z ol o
—
o

f8& 712t Lholl roHet ArE
o

Q% 717t Lo oKt Abzt
7t
7t
7t

7t4

b1
D3
Ds

10

HEFUE 087

Q3 7|7F ol = At

DPpair

4r
Bl

Jod
jol
ofru
n
jod

Go

i
ofn
o

ol

Al 20| 2stH, B0l A

=
=

DE EZI2 i

atct

b

ElZle] =

i

20| HREL}. 5K

7
i

=

O|E3otX| ROt E|1, fEet EZIE SA0 o2 & ERAE &
ol

oM N

I.

A
il

ol &

2
=

q

S
o

=0|2t

t

#alstet.

-
o

1

oju

1

o| ofeet

q

X
o

o
=

busantour (1 of 3)

°

I.

2
=

I.

2
2]

=0|

q

X
o

20|29}

, ¢
Ct.

= FSHH & H[20| 292 T HfEICY,

|

—

12appair = 150|2

7ap5
O O X X X O O o0 X

= X O O X O O O X O

b

) x 3 (1¥3H 7t4) = 33 9| H|E0|

3’p3
[}
32

Ql
=

O'l, N = 90|—T'—, P1

ot Hojc 3 &
oz 5



ot=0[9] YN™E LIEH = EXE A = 414y - - - Anet E20|9] YHE LIEtHE EAtE8 B = B1B2--- By
7 Wt §(1 < 4 < N)oi| Chah

o SH=0|7} &S TIHEIH A; =1, OlLH A4; =
o HS0|7} 23S THSIH B, = 1, OtL[H B, =

10
o
jlul
Hu
<
bl
_|
=
ou
H
4n
i
)
mjo
[pal
0%
el
g rir
ng
=]
inl
1
<
|.|'|
rot
02
10
=)
fot
rot
El
olm
m
e
40
ojo
rH
=
oot
mjo

S
o FOX= 2= = F0ICt.
« 1< N <2000
- A€ A, Be 20|= 242 NO|H 2E 2XAt= 0 £ 10|C},
« 1 < P1,P3, P55 Ppair < 10000

B |

1. (68) p1 = 10|11, p3 = p5 = ppair = 10000.

2. (12F) ppair = 1011, p; = p3 = p; = 10000.
B(16F)EE (1 <i<N)Oolthsh A; = B; = 1.
4.24¥) 2E (1 <i < N) o i B; = 0.

5. (42%) F7t ML = S

o -t
JERT

M Hw Foi| Fa0l HE 2= 7(2HS UEH = Ea= NO| FO{TICt

T Sof| 2t=0|9 2t LHE LiEH = EXIE A7t FO{TIL,

HJIO

Ml Zof §20[9| 2 2H

Lo

LIEL = EXHE B7t F0{ZICH,

rulo

Hl 3 Z01l p1, p3, 5, Ppair’t SUE ALO[Of] F10 FO{TILY,

busantour (2 of 3)



of| x|
Gllxl 1

o e

9 29
011011101
110001110
3 7 12 15

o[ 2

9 11
0116011101

110001110

1 10000 10000 10000

busantour (3 of 3)



